1. Mr. Borden wants to ask his class a question that will give several different answers. Which
question should he ask? '
a. Whatis the area of one sheet of notebook paper?
b. How many sheets of paper do you use each week?

The correct answer is b. Mr. Borden should ask, “How many sheets of paper do you use each week?”
because this question has more than one right answer. He could display the answers to this question
using a bar graph. The question, “What is the area of one sheet of notebook paper?” has only one
correct answer.

Examples: Statistical vs. Not Statistical

1.  How many siblings do you students in your class have? Statistical
2. In which month is your birthday? Statistical

3. How many states are in the United States? _Not Statistical

4. How tall are the students in Grade 6? Statistical

Créating a Statistical Quéstion

1 Numbers of pets classmates own: How many pets do you own?
2 Welghts of pumpkins for sale: How man ' pounds is each pumpkin?
3. Helghts of different plants growmg How many inches tall is each plant?
4

Visitors’ ages at a park on a Saturday: How old are you?




Outlier: an extreme value with few data 'point,s~‘lo‘cates:l‘ near it.

Z)Témpe,fmmrgsm 0 Mﬁ\{ ("F)\

| i |

S X X

x = X X
| f | L
1 T | {

+ XX

X
1 ¢

S E TR Ty A b R AR [ L /5
7@mp,g,{aj‘mf es (0 F)

N

R

3 b XXX
~ XXX

Y

| What is the lowest and h:ﬁhm# tem perature "
‘70°’F;. Y F

2. Aboutr wheee 15 the Contes AL ’\’Y\L dots 7

’ Ara%l’\ﬁ}\ ; 7&0 FCLY\O{ jgaF -

N



How to find the Mean/Average:

Step 1 — Add the values of the set of data to find ;the'sum‘

Step 2 — Divide the sum by the total number of values in the set.

Examples:
1. 54,928
6~+'—%~*’CT + 3= 206
20~ 4 = ,""(;‘“""6

2. 101,105, 103
6] + 105 + 103 = 230G
200 = 3 =\ \03

3. 19,55,34,16
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4. 2, 5,4, 5




Mode: the data value that occurs most often in the data set.

Range: the difference between the greatest and least values in a data set.

Examples:
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Histogram: a graph that uses bars to show the frequency of equal ranges or groups of data.
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~ Quartiles: values that divide a data set into four equal parts.

. Fi nd the mefion  fean U and Maxoun values.
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Step 1: Organize your data using a dot plot and fi edian, mode, and outliers.

Step 2 Look fokfclu~5tefs, g,aps, and ‘o:utfl,iers to help you reason what'ﬂthe.‘me‘asureso‘f Centér tell ydu.,
Stép 3: Draw conclusions. - |
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5.6 Draw & boy plot.
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- reasonal (e~forf~a~‘galloh of milk.
Use reasoning.‘ Find 5"bossible prices having a mean of S3‘.29;
Try these possible kprices: $2.89, $2.99, $3.09, $3.29, and $3.49.
Check to see if the mean is equal to $3.29.

2.89+2.99 +3.09+3.29 +3.49 = 15.75

15.75/5 = $3.15

The mean is too low, so you need to use higher prices.

Revise the prices using what you know. The mean was 14 cents too low.
Try adding 14 cents to each price: $3.03, $3.13, $3.23, $3.43, and $3.63.
Check to see if the mean equals $3.29.

3.03 +‘}3.13 +3,23+3.43 +3.63=16.45

16.45/5 = $3.29

5 possible prices for the milk are $3.03, $3.13, $3.23, $3.43, and $3.63.




